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COMPUTER NETWORK

fuifm owa - fm W) (arferpan 316 : 70
Time allowed : Three Hours] [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) N F97 F G 9T F HHEAR T Y & Fitord |
Solve all parts of a question consecutively together.
(iii) % 597 %) 79 98 & FIR Hiford |
Start each question on fresh page.

(iv) il aTarsT 4 3R g @1 Rl 3 3 srag 8 w8 |

Only English version is valid in case of difference in both the languages.

1. (1) Yeadomee | froysngata g ?

@ fw (b) HH
© e (d W
The Network Layer is concerned with of data.
(a) bits (b) frames
(c) packets (d) bytes

(2) 3 A BB Fzadh AT HTAE R ?
(@) TSN (b) T AcalEn
(c) FHieH B ) WHI
Which of the following is not a function of network layer ?
(a) Routing (b) Inter-networking
(c) Congestion control (d) Error control

(3) wRTEE B [P USH A AT
(a) Tk Sk uga ORRE A
() ik ead 2a I AR @H (d) Fea ugH 3N A% g
A 4 byte IP address consists of

(a) only network address

(b) only host address

(c) network address and host address
(d) network address and Mac address

(10f 8) P.T.O.
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(4) FORH Yead dut b WdHa A AR

)

(O)

D
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(a) T (b) TEAE WieHiet
) TRICER FEENASE  (d) BT FEH M
The network layer protocol for internet is

(a) ethernet (b) internet protocol
(c) hypertext transfer protocol (d) file transfer protocol
3é gt o . i A 9T SuEeT g 2

() YWIMemEEAHEEREA (b)) CgRM

(c) wrERfET (d uSfen

ICMP is primarily used for

(a) error and diagnostic function

(b) addressing

(¢) forwarding

(d) routing

HHTT AT 8

(a) AT G TSI e T B

(b) FHI I | FRHARS

(o) vt 3t R st g

(d) ot wft

Computer Network is

(a) collection of hardware components and computers.
(b) interconnected by communication channels.

(c) sharing of resources and information.
(d) All of the above

Yeads o Tade Frai Tt Tt 31 IR Afh 1S o9 A1 3, FEeal &

(@ wFmd (b) wheETR

(© whetd @ waf

A subset of a network that includes all the routers but contains no loops is called
(a) Spanning tree (b) Spider structure

(c) Spider tree (d) Special tree

4 % FSA BT R

(a) RifRwm e (b) TE

(c) T FAESEERR (d) 39 T

Header of a frame generally contains

(a) Syncronization bits (b) Addresses

(¢) Frame identifier (d) All of the mentioned
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©) wIH. F v

(10)

(a) ursfsfer e~ 9% (b) e fifeas

(c) wisfE~fiss (d) wrshelees fifie 9=
C.R.C. stands for

(a) cyclic redundancy check  (b) code repeat check
(¢) code redundancy check (d) cyclic repeat check

& A B T A S s R H R ?

(a) T (b) TIEE-T-ITE NEihie

(c) TE.FuaH. (d) I adl

Which of the following is a data link layer protocol ?

(a) ethernet (b) point to point protocol

(¢) HDLC (d) all of the mentioned
(11) ZiHdie HET Gel SI2T Bl Ui d Ueh g fFa a2 ?

(a) AZaH AW (b) e T e

(c) UHHIH A; (d) Tefoera dm

Transport layer aggregate data from applications into a single stream before
passing it to

(a) Network layer (b) Data link layer

(¢) Application layer (d) Physical layer

(12) 7 & B T e A STAETe 8 S eateh & fore i e @ 7

(13)

(a) A, uE A (b) LA G @A,

() d.dd. sy, (@) wWAAR. A,
Which of the following are transport layer protocol used in networking ?
(a) TCPand FTP (b) UDP and HTTP

(¢) TCP and UDP (d) HTTPand FTP

it vE. a7E. Hise # fhadt AR AN R ?

(a) 9= (b) B

(c) B (d) =

An O.S.I. model comprises ____ layer.

@@ 7 ®) 8

© 6 @ 5

(14) Tiafem Hie b

(a) ¥ HIEA IS TeIHie 8
(b) e 33 Eefh g geafer FwRE
(c) 1! T URI A TSI & STH F 8 |
(@) SwEaH
Transmission control protocol
(a) isa connection oriented protocol
(b) uses a three way handshake to establish connection
(c) receives data from application as a single stream
(d) All of the mentioned
P.T.O.
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(15) TR HRfEHeE & Ffad R ot Heeget Jeash 8 8

(a) FWHe (b)
(c) U (d) =
An endpoint of a interprocess communication flow across a computer network is
called
(a) Socket (b) Pipe
(c¢) Port (d) Machine
(16) gradié wfda v uige  fog, TCP B2 |
@ W (b) T
(c) e (d) Wit
A isa TCP name for a transport service access point.
(a) port (b) pipe
(c) node (d) protocol

(17) TG Sat Sidiehicl S %@ 2
(a) TRAHIA A TP (b) W A NG e
(c) e & s HRIfHeA (d) Teash & Jeadh FYRHI

Transport layer protocol deals with
(a) application to application
(b) process to process communication
(¢) node to node communication
(d) network to network communication
(18) < YU 32T | & IPR
(@) e Feada & uw sim & g ga Rarda A N o 2 |
(b) I RaERTBaTARE |
(c) Bl JreT-3rem fearsa # ff.3md &) v S @ Em |
(d) I H B B 7@
Two devices are in network if

(a) a process in one device is able to exchange information with a process in
another device.

(b) a process is running on both devices.
(¢) p..d. of the process running of different devices are same.
(d) none of the mentioned.
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(19)

FIE AT ¢

(a) ook FIAFAAREE  (b) Jead S Ha b o
(c) Ik Ml (d) IHRHH B HE T

The computer network is

(a) Network computer with cable
(b) Network computer without cable
(c) Both of above

(d) None of the above

(20) St = OSI Model & 2Y& sife &1 i @t &

(24)

(a) e o (b) e a
(c) BIHH d) YR A
The layer of the OSI Model which perform token management
(a) Network layer (b) Transport layer
(c) Session layer (d) Presentation layer
(21) mm@wmwmhﬁnmﬁﬁzma :
(@) TEH TS (b) B 3 R
(c) EERUIW @ SwrEaf
The performance of data communication network depends
(a) Number of user (b) The hardware and software
(c) The transmission (d) All of the above
(22) THA. F R
(a) ISl ZEHL NIt (b) TEd gt ST
(©) B ZEH MBI (@ i gt S
F.T.P. stands for
(a) File transfer protocol (b) File transmission protocol
(¢) Form transfer protocol (d) Form transmission protocol
23) st @, J3d. . H ehgeral @
(a) W& (b) FmE
(c) SRW™ d W
The data unit in TCP/IP layer called a
(a) Message (b) Segment
(¢) Datagram (d) Frame
7 A B AR TCP/IP & eiftra T R ?
(a) EATREH TR (b) T AR
(¢) T AEt (d) FECICaH AH
Which of the following is not a layer of TCP/IP ?
(a) Application layer (b) Session layer
(c) Transport layer (d) Internetwork layer

P.T.O.
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(26)

(27)

(28)

(29)

(30)
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(25) 4. FgE TR R ?

(a) TR S (b) FemEa

) I @

What is the main advantages of U.D.P. ? _

(@ More overload (b) Reliable

(¢) Low overhead (d) Fast

IPV6 # 178, 9. u38 =1 A

(@) 4urz ) 128fs

(€ 8arz @ 100 fs

The size of an IP address in IPV6 is

(8 4 bytes (b) 128 bits

() 8bytes (d) 100 bits

1PV4 o 378, 9. U39 #7 Size Bra1 2

(a) 2ame (b) 128fse

(© 32fe d 50fae

The size of an IP address in IPV4 is

(a) 2 bytes (b) 128 bit

(c) 32bit (d) 50 bit

& I fope feade S aom A N awad ?

(@) TSR (b) =W

(€) TAHE @ B

LAN can be connected by a device called

(a) Router (b) Modem

(c¢) Ethernet card (d) Bridges

A AR, Tewia 2

(a) A B (b) I A

(c) eadh e (d) e i s

H.T.T.P. is a protocol

(a) Application layer (b) Transport layer

(c) Network layer (d) Data link layer

IE.%7E. A 3T R

(a) aréEw fRfad (b) aTSE et

(c) T B (d) IRIEH A B 7

Wifi stands for

(a) Wireless fidelity (b) Wireless functioning

(c) Wireless function (d) None of the above (1x30)
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2. (@)
(i)
(iii)
(@iv)

™

Bc )

(i)

(i)

(i)

(i)

(i)

fe feaor & e arcad R 7

What is meant by error control ?

[PV4 5 [PV6 & &7 IR F1 2 ?

What is the main difference between [PV4 and IPV6 ?

H 2 . St Hele TR ?

What is TCP congestion control ?

FTP & HTTP § 91 3t 2 ?

Differentiate between FTP and HTTP ?

IR AT A aEd 8 ?

What is wireless LAN ? (2x5)

=71 i v i fii ) afraR e |

Explain framing in data link layer.

IEEE 802.5 & e T i sprfarfes sy |

Explain the working of IEEE 802.5 LAN TOKEN RING. (5+5)

Yoad S % Tl @ TS TR aferar awensd |

Explain any one routing algorithm of network layer.

[PV4 Yg@ e Ft e Lo FHETE |

Explain IPV4 Address format with example. (5+5)

v S 3 el el T R A |

Explain flow control and buffering of transport layer.

TCPd UDP i 3=t & HIFT |

Differentiate between TCP and UDP. (5+5)

weftie A 3 fafim gl 1 e |

Explain various principles of applicatibn layer.
mhﬁmﬁmmﬁﬁmm‘hmaﬂqﬁl |
Explain different protocols used in e-mail. (5+5)

TR ol T S |

Explain multiplexing in detail.

uaﬁﬂqaﬁﬂmﬁnmmﬁnma?ﬂi 7 s fafm Idm g Efed
T |

What is multicast routing in routing algorithm ? Explain different usages of
multicast routing with example. (5+5)

P.T.O.
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8. (i) Yead A (WEgsH) SNMP T aui L |
Explain network manager SNMP.
(i) CSMA/CD & Siisiel ! farean & auegmsy |
Explain LAN protocol CSMA/CD in detail. (5+5)

9. wftw feogoft ferfiau
Write short notes :
(i) =
Bluetooth
(i) Wigue 7 uigwe Werpia
Point to Point Protocol (PPP)
(ili) WIMAX IEEE 802.16 (4+3+3)



